= A
N = 0 & AF & Y A
2022 = 20l A LBHSH Al A 22| Dt
A& 2e| ot
D HAHHAY| (Al A2 D)
JlE&l (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
A z2e| ot 6,547,971 6,080,584 467,387
= 160,000
Al 6,387,971
H2dAd (M2 ) 45,623 44,231 1,392
Jl23dHl 45,623 44,231 1,392
Jl2&H| 45,623 44 231 1,392
201 et 20,438 20,246 192
01 AP 2t 2] H| 17,764 17,764 0
OJIE ARES 30,000%18H 540
HEZ=A S NP2 20,000%x53 100
Ooa24d 2374 60,000%12& 720
OAFRR =464 50,000%12& 600
Onlg 252 10,000%5F x12& 600
Ooda4) dilz 35,000%12& 420
OJle 428 2 H| 8,000%x14%H 11 x12& 14,784
02 2224 2,674 2,482 192
OANES 33X A2l 2,674
— XA ] 592,000 592
— S5l 1,388%15,000km* 10% 2,082
202 o4 | 19,385 18,185 1,200
01 2L I 17,345 16,145 1,200
OJle2s 2ol 16,145,000 16,145
OJI22s ZHAH-I(Z2R) 1,200,000 1,200
02 NI 2,040 2,040 0
S M| 170,000 1 x12& 2,040
203 € R =& 4,600 4,600 0
03 AIEH =X 2 F X Y| 1,000 1,000 0
OAMHFRHFZFXH| 1,000,000 1,000
04 FEASHEYIFFEH| 3,600 3,600 0
OB ELEF=8H| 300,000« 12& 3,600
204 & R4 A H| 1,200 1,200 0
01 MEEZHRLSHAH| 1,200 1,200 0
ODHE 100,000%12& 1,200
FOIEHOIA A= 22 1,885,318 1,279,058 606,260
HIRLULE HdEH &9 1,770,881 1,165,281 605,600
HELIEINEH SX 22 1,770,881 1,165,281 605,600
201 LBt | 486, 141 486, 141 0
01 AP 22| d| 6,210 6,210 0
Ogbt4=24| 3,330




AN A2t

M FOEHYALS 2

9 HARLIE HE 29 (298 R)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
—Z3uE g7 50,000%3Z *x63] 900
—S2D] HIIEAN =2 125,000%4CH 13| 500
— =& HA 200,000%23] 400
— S AIJIA HEEINBA =2
400,000%13] 400
—SANSIXM AEESEA =&
200,000*3& 600
—HRUEIHE 29 AIREE 22 530,000 530
O=3&H| 2,880
—HAFUEHEH 89 S|
8,000x3&H*x10L x12& 2,880
02 33294l 479,931 479,931
OF=r=3 "= 438,551
—&IIe3 JaEs 8,320x560kwh* 122 55,911
—dIRE MES 175,000,000 175,000
—SAJIA 22 160,840
HI WA E Hg2 70,000x12& 840
AES 160,000,000 160,000
— Aol ER2 3,000%1,300m x12& 46,800
OA & &Hl S XY 34,380
— Ma=Xe3 FAEY 1,500,000%23] 3,000
— AR ULEME S#ZEH WHI SSUH
1,500%30L*43] 180
—s4Q3 100,000+ 128 1,200
—22 Y FUALS AR2 24
30,000,000 30,000
Osd) |A&e 84 7,000,000 7,000
202 04d| 1,200 1,200
01 2L Y| 1,200 1,200
OHRLUEIHEH 22189 RFA
100,000~ 12& 1,200
206 M = Hl 26,400 26,400
01 &2 bl 26,400 26,400
O&ED|, SMAIE B2 ANHPY
700,000+ 12& 8,400
Oxg & =72 18,000,000 18,000
307 212t0| & 26,500 21,000
05 A2t E 2 26,500 21,000
OA8ANE SEHLEZ 29 3,000,000%23] 6,000
OHRUEIHEH BE gdis AEESY
3,000,000%53] 15,000
OAHFLIEIMEH Xotx=geX Al 4
5,500,000*13] 5,500




COAE 2l
D FUBEOALE 2l

P HRLIE dE 2

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 613,340 60,540 552,800
01 A& HI 609,500 60,000 549,500
OHFRUEHEH ANIEE RANE> 60,000
—JIA, deter & 20,000, 000 20,000
— &0, Agdl 20,000, 000 20,000
—=2& =g &4 10,000, 000 10,000
—XZ dF & 3 FH 10,000, 000 10,000
OHRUEEH O=3HE HES =M 205,000
— 20,248 XHE WM ¥ HIAE =2
200,000, 000 200,000
—WEE D] WA 2tet i & HHsEZ AR
5,000,000 14! 5,000
OAHRLIEIMEH &2I1(30) »X
250,000,000+ 14! 250,000
OAHNFRUEIHEH =35 S =3 A
70,000*1,350m’ 94,500
03 A2 2 0HHI 3,840 540 3,300
OAIZ S THHI 609,500,000%0.63% 3,840
402 RI2FX=01 M 570,000 570,000 0
03 212t &AL S HI 570,000 570,000 0
OANRLIEIME AMEZE2e 2L (MEds |
2el, Fa, Zdl) 570,000, 000%* 14! 570,000
405 XHoHF S HI 47,300 0 47,300
01 HatL EZFH S 47,300 0 47,300
OAHNFUEIEH &4F s MAMsSI 7
2,500,000+ 1CH 2,500
OAHFUEHH UsHE HLE)] 2
5,600,000+8CH 44,800
oS4 ML 2 114,437 113,777 660
“E4& ML sR2a 114,437 113,777 660
201 et 25,824 25,824 0
01 At 22l 13,068 13,068 0
odl s22 24 835 7¢ 1,776
- 22F 7Y 50,000« 12& 600
—MoIsE 22 (1002 ) 2,600%30& *12& 936
—SEX 7Y 20,000+ 12& 240
Ol st&Ea 425 ¢ 2,976
— £ st&X 42,000%20% A 840
—HolH HEES 40,000%30 A 1,200
— M YIS E(1000 ) 2,600+30& <122 936
OdI 22 AIEES Y 396,000 396




2N

Al 2e| ot

M FOEHIALS 2el
Sl PEA HYY 29 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
oMl =22 F=I| 2l
20,000x20H 123 480
O st&4 Hid 2eldl 10,000«3CH«12& 360
ORSAEUN 28 =5 60,000 118 7,080
02 =224l 12,756 12,756 0
Ol 3= 12,756
—dIIR=a 863,000+ 122 10,356
—SHes 200,000 12& 2,400
202 o4dl 1,200 1,200 0
01 = LH o4 1l 1,200 1,200 0
Ol 22/2d HRFA 100,000+ 128 1,200
206 = Hl 4,110 4,110 0
01 MHZ 4l 4,110 4,110 0
O &CIHE & HEZE MAHM +& 2,310
— &C JHEH 1,135,000 1,135
—HE=E HMAA 1,250*300 375
— &0 400,000%23] 800
OJIA - &I E=8 M2 150,000+ 128 1,800
307 gl2tol & 27,808 27,148 660
05 BIZHRIE 3 27,808 27,148 660
Odl RelFH 4 99,000+ 12& 1,188
O 2+EH3AE 22l X
385,000*12& 4,620
odgl 34 9 22,000,000 22,000
401 AIEHI L 201 55,495 55,495 0
01 A& Hl 55,000 55,000 0
O34 LU AIEE HR22 55,000
—XxZ - BX22 ¥ FFH 20,000,000 20,000
— M2 H2 Ex ¥ &M 20,000, 000 20,000
— 28 & LBt AId2 |X2el 15,000,000 15,000
03 AlZ S THHI 495 495 0
OAIZ 2 HHI 495,000 495
TRIoHEAE = 22l 3,483,065 3,212,091 270,974
= 160,000
Al 3,323,065
FQIotM g HOoAlH 3,483,065 3,212,091 270,974
= 160,000
Al 3,323,065
28 22t |X2el 2,498,986 2,330,642 168,344
201 Let24d]| 1,432,358 1,432,358 0
01 At 22l 250 250 0




EMN: AlAd2el
M ZOIOEAILE B2
9l FEOIOE W BO Al (el @2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O&JItd 22| X 83lH € = 250,000 250
02 2324 1,432,108 1,432,108 0
OJI2 - B¢t - HYEE dIIe=2 888,604
- Jz2ea 6,290%2,300kW*12& 173,604
—ANER2 715,000,000 715,000
OJI2 S ¢etsr ZAl YL Mo Sae2
1,100,000*12& 13,200
ORI ZES S BHE0 2 HUHIEX A&t
= 43,417,000%12& 521,004
OJlz2s |AEx & NsSXHAM 100,000+1CH 100
OJIE2s SIE4 I sFAMEEE=2
80,000 1CH x23l 160
OJlE2s S84+ Iy K24
1,260%40,000km* 10% 5,040
Odtzs SN X S22l
1,000,000*1CH *4 3] 4,000
202 04d| 1,200 1,200 0
01 2L I 1,200 1,200 0
OJIgs ¢ 2os g2 =4 100,000%12& 1,200
206 M = Hl 47,400 47,400 0
01 X2 4| 47,400 47,400 0
OJI2 - 20 - HEs otFEI| R (LED)
50,000*300H 15,000
OJI2 - B0t - HEY S &#T 72 (LED)
100,000* 160K 16,000
OBgots &Ed)| ¢ 80,000*807H 6,400
OJdlz g gtsr )| 2 900, 000* 104 9,000
Odiz - B89 - HES SA&el XNHF2Y
50,000%x20= 1,000
307 QI2t0| ™ 4,392 4,392 0
05 QIZtRES 4,392 4,392 0
OZsUw dMILH otd2e HaHEsH
193,000+ 12€ 2,316
OFAHYE AMI|ALH otM2e HaHEsH
173,000+ 12€ 2,076
401 AlEHIZL 2 0HY| 1,013,636 845,292 168, 344
01 Al&EH| 1,010,000 840,000 170,000
OJZ - BotsS SAIZ2l(SHILH )
200,000,000 14! 200,000
OLZ:Ilgs & 28 WA 130,000,000%14! 130,000
OJlzs BHEgEH &4 =2 A}
100,000, 000* 1Al 100,000
Odtz24 diXE BEHS A B A
40,000, 000* 1A 40,000




DlotA HOAIE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OL=: HZ2SF TMIA 20,000,000* 14! 20,000
OMIIIZE WHSA 90,000, 000* 14! 90,000
OZdS~=0ts 28 FNEH8EH Jtzs &
S A 130,000, 000+ 14 130,000
OSHES 2ot dXZA 300,000, 000%* 14! 300,000
03 A& =2 THHI 3,636 5,292 A 1,656
OAIZ 2 HHI 3,636,000 3,636
SHE sA2a 30,500 70,500 A 40,000
206 M= Hl 10,500 10,500 0
01 =8l 10,500 10,500 0
O3ds &¢&Il 2L(LED) 50,000%50H 2,500
O3S ¥XZ 2L (LED) 100, 000*50H 5,000
Oz3s e 387 ¢ 2,000,000 2,000
O32&8 |Xzel N+ 1,000,000 1,000
401 AIEHI L 2 CHYI 20,000 60,000 A 40,000
01 A& HI 20,000 60,000 240,000
O33S SFAZel(SIHAY) 20,000,000+ 14 20,000
MESZHEX =X 2 49,000 149,000 100,000
206 = Hl 9,000 9,000 0
01 =8l 9,000 9,000 0
OMESZ2EXN S+ 7 2,000,000+4& 8,000
OMEEZEX RAE=XM & 1,000,000 1,000
307 21201 A 30,000 30,000 0
05 RIZtelEt = 30,000 30,000 0
OMTMD NLBREX 22l A8
6,000,000 14! 6,000
OHQ W MESZEHAX 22| EEY
6,000,000 14! 6,000
OHzZ R AEEZHTX 22l AE=H
6,000,000 14! 6,000
O=sdia=2Ew A2 HR 22 ASEH
6,000,000 14! 6,000
O2slun MESZEX 22| EEY
6,000,000 14! 6,000
401 AIEHI L 2 CHYI 10,000 110,000 A 100,000
01 A& HI 10,000 110,000 100,000
OMEEZ EXS ZIFA MAl L 22
10,000, 000* 14 10,000
NEE 22+ |2 153,197 164,469 A11,272
201 Let24E] 43,956 45,354 A1,398
01 At 22l 2,026 3,674 21,648




AN A2t
M FoIoFAME B
Chelr FDIOHA U BOAIA (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONERINZ+ 22 GRFI Sl
8,000% 1% %247 1,976
OgeE gD FIHA =5 50,000 50
02 2324l 41,930 41,680 250
O&EJletd &2el Xt 83l & WEss2
250,000 250
ONERIMNES ¥ HZ HIIRIII2R3)
2,000,000+ 12& 24,000
OMAERINES L X MIRI(AERS)
500,000 12& 6,000
OMBEERIMES 2HY HESH AEE
250,000 12 3,000
ONELRIN2+ 24 LS AEZ
15,000 12& 180
OPLC ¥ =HIE&Hl RXLE2=+ 5,000,000 5,000
O3 =38 #IH RANE=S 1,000,000 1,000
OEZHMEE SO0I2E SFANE=S 1,000,000 1,000
OHEII| & 2BUN RN
500,000%3H 2= 1,500
202 04l 900 900 0
01 = LH 4 Hi 900 900 0
OMERRNZ> SRFA 100,000%98 900
206 M= Hl 18,750 18,750 0
01 M= 4l 18,750 18,750 0
ONMERXMNE s ety A222 (200 ) 2
300,000 1574 4,500
OMERIMES RX22SE (5)dd 7Y
4,500,000 4,500
ONERIME2 RS DYSA S XM
-+ 50,000%20F *23| 2,000
OMBERINE> RAACIS LED =55 7
750,000%54 3,750
OMERIMES RA2EE s8E ¢
1,000,000%3 3,000
ONERINZ2 RS A2 SI|F HIS
-2 1,000,000 1,000
307 glz2tol & 5,844 5,628 216
05 RIZERIE 3 5,844 5,628 216
ONERIIMN2 RZH AESH
90,000+ 122 1,080
OMERINES HI|etE e Y 84
397,000+ 12 4,764
401 Al HI K 201 I 83,747 93,837 A 10,090
01 A& HI 83,000 93,000 A 10,000




AN A2t
M ZOIOEAILE B2
Chelr FDIOHA U BOAIA (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONERIMN=2+ 284 M= FHY
2,500,000%23] 5,000
ONESIMNES SIE, Jet2es +EHD
WH SAt 3,000,000%23] 6,000
ONERINZ2+ 284 - =HIN =2 03
HFA 2 10,000, 000 10,000
ONERIMNZ2r =5 L £ES WA SA
10,000,000%25 20,000
ONERXN2+ LED =5 & SHANSEQ
E WH SA 10,000,000%25 20,000
OMEEXME= EIRZ2 HMA  3,000,000%23] 6,000
OMBESRXINE = Remote 1/03tE % SMPS LAl
= 3,000,000%23| 6,000
OMBERIMNES NEE RAES(=FHi2,
}E2=, E1|O|Ii Y -OTZNH ) 10,000
10,000, 000
03 AlE 2 THHI 747 837 A 90
OAIE =2 HHI 83,000, 000%0.90% 747
OtsREX sAE2+ 72 213,080 361,820 A 148,740
201 24| 118,528 118,162 366
01 At 22l 77,976 77,962 14
ODISREX SAE+ 2l LI S|
8,000% 1% »x247 1,976
Olls®&X sA2=+ EX2XN L=
76,000,000 76,000
02 =224l 40,552 40,200 352
O&J|gtd el Xt 8alHl & NEx2
250,000 250
OltSREAX 82+ Iz 0II2e3)
2,100,000+ 12& 25,200
Olts KX SLE> HI2S(MERS)
1,000, 000*12& 12,000
OSSN 8424 QEHY M58 ABE
250,000+ 12& 3,000
OltsSREX 842+ FA2ALE 2E RFJH|
1,700& »60L 102
202 O4dl 900 900 0
01 = LH 4 bl 900 900 0
Olls®&X 42 H2F=& 100,000«9& 900
206 = Hl 30,000 2,000 28,000
01 M2 4l 30,000 2,000 28,000
Olls=&X S22+ #A2CE 22 SJ|7
HE 7 2,000,000 2,000
O0ls=&X S22+ RAACE LD =5
-2 930,000 104 9,300
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EMN: AlAd2el

HzH: FOICHMAIA S 22|

Chelr FDIOHA U BOAIA (el @2)
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o %E& HRE2
206 M = Hl 8,500 8,500 0
01 X2 H| 8,500 8,500 0

OFd&XTHE otHD| Q! (LED) 100, 000%25JH 2,500
OFXHZE T 1A (LED) 150, 000*20H 3,000
OFd&XTHE st M) 2
2,000,000+ 1CH 2,000
Od&XY RAA2S 22 2I|2 HSE ¢
1,000,000 1,000
307 2I2t0| & 840 840 0
05 QIZtR &2 840 840 0
O2XMCiel foHH /A4 70,000%12& 840
401 AlEHIZL £ 0HY| 66,594 79,000 N 12,406
01 Al&H| 66,000 79,000 A 13,000
OlLE=EN A XHAE B4 ZA
3,000,000 3,000
OlE=1W RGB HEE=H WM Z2AH
2,000,000%23] 4,000
OYE] FHXHBALE B4 Z2A 2,000,000 2,000
OANEEE XES(Z U) B2 ZAl
5,000, 000%2H A 10,000
OANEEE XES(Z,0U2) ZHIDI
2,500, 000%2H A 5,000
Odgdel 2IHNEHEZ HAXHAIAL LED X
H WH ZA 8,000,000 8,000
Odgdel 28 HEZ RGB HEEY WH Z2At
5,000,000 5,000
OMEE21 ZBZXZHAAM(LE =S, LED 2t
OlHt) 24 ZAl 4,000,000 4 000
OMEHEHZOIELY HEIAXBAE B ZA
4,000,000 4,000
O2XMtel BEXZHAE B4 ZA
5,000,000 5,000
O2XMCel RGB HEZE WM ZAH
2,500,000%23] 5,000
O=21J] HoOtAHel H2XHAIE WA Z2A
3,000,000 3,000
ONMHE, 55 H0ISd S XZFAIL LED WA
= At 4,000,000%204 2~ 8,000
03 AlEE2HH]| 594 0 594
OA&E S0t 66,000,000%0.90% 594
ADLE B0ots grst AJAE AX ALY 400,000 0 400,000
= 160,000
Al 240,000
401 AlEHIZL 201 Y| 400,000 0 400,000
= 160,000




AN A2t
Hu: ZOQMALES B2
Chelr FDIOHA U BOAIA (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 240,000
01 A& HI 400,000 0 400,000
OANE BEtsS e ALY EXAE
400,000,000 14! 400,000
= 160,000
Al 240,000
THol & TH&H Ol & 1,133,965 1,545,204 A411,239
Mol?IE Ald=E 22| 1,133,965 1,545,204 A411,239
=82 s 2l 1,133,965 1,045,204 88,761
101 @14 Hl 38,847 36,687 2,160
04 JIZHHZ2XNEE S 38,847 36,687 2,160
Otl=8IZZ |A2el el 38,847
— o2 81,120+6L x 11«73 37,478
—MTHEE = 37,477,440+0.011 413
—1EEEE 37,477 ,440+0.0255 956
201 Let2d]| 500,961 493,356 7,605
01 At 2teltl 22,538 14,888 7,650
O=&Hl 8,000+3F 7L «12& 2,016
O&FJIIgtd eIt nEs2 & 3l
250,000 250
OR4EXe FHYRZ 2,500,000 2,500
Obf=B8oZ 2t J| 5,200
— 2t 600,000%2H 2 1,200
—Haesy 200,000%20H £~ 4,000
OA223F 74| 2,072
—Hi=EZE ZHE F2(28) 8,000%200M 1,600
— Z X (PPOLCH) 3,450%15%& 52
—LEDE XA HYS 70,000+3H 210
—AddX 5,000+30H 150
— A=A 3,000%204 60
Of=8ISZ FIIZEA ==& 10,500
— Aots I HIZBAH(REEZZ2 70
&) =2 8,000,000 8,000
—3die HIIZA(S2AIL 2MHA) =2
250,000%3H 2= 750
—S0IAE FIBMAMELY 2A) =8
250,000%3H 2~ 750
—ZHI0I0 EIBAHHEBES 2 3HA)
250,000%4H 2~ 1,000
02 =224l 478,423 478,468 A45
Oti=8BZd MIIANER 400,000
—dMEY H=BZHEL 199HA 400,000
IE2ea 100,000, 000 100,000




AN A2t
I THol & T o

g2 Mol AlEs 2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ARSI 300,000, 000 300,000
Oti=8oZ ZAMI| AZH]
1,436%16.54 =8 A +128 2,275
Oi=B8oZ ALLER= 12,000%40H A +128 576
OB Fddd S4R3  66,000-12& 792
Otil=8=ZF CCTV & 23lHd AIEZ
75,000%27 M 2 x128 24,300
Oti=B8LZ 423 10,000%400 A+ 123 480
OA&EHl s Xl 50,000
—HH=BZd MY =t &H =&8% Xt
1,000, 000%20H 2 x50% 10,000
—B=8ZE AE HMAEd =874
1,000, 000%20H 2 x50% 10,000
—HAEIZ AT 22 LUK
1,000, 000*10CH 10,000
—HABIDN AZLAN 2HRX
1,000, 000*10CH 10,000
—i=Bxd 835 AFX0N0EH =& XH
10,000, 000 10,000
202 O4dl 1,200 1,200 0
01 = LH 4 1l 1,200 1,200 0
Oti=Z8IZ & AME28 sX2e I
100,000+ 12& 1,200
206 M= Hl 11,050 11,050 0
01 =8l 11,050 11,050 0
Oti=god 248 UMY 5,000
—JIA - 8IIAES EHIE UM 2
250,000%20H £ 5,000
O8I M)A SdX 2 6,050
— &FJI8t =HX 12V 100HA
150, 000991 *3JH 2~ 4,050
—PLCE HI& AR (UPS/ 1KV)
1,000, 000%2H 2~ 2,000
307 gl2tol & 305,988 277,988 28,000
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